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In the sentence below, identify; a determiner, a preposition and a subordinate clause.
If the continued trend of global warming and pollution continues over the coming years, humans living on Earth shall have to spend vast amounts of time and money to overcome significant climatic issues.  
· Explain how you were able to identify the subordinating clause
Writing
Would you have tried to escape if you had been sent to a Victorian workhouse? 
Considering the pros (freedom, escape to a more pleasant part of the city/country) and the cons (capture, punishment, beatings) write a short explanation to answer the question.
Openers:
Victorian workhouses were dreary and dreadful places to be. As such, a resident of such places may feel compelled to attempt escape. If I were a resident in a workhouse, I would…
Would you attempt escape from a Victorian workhouse? There are many reasons for and against doing so. This argument suggests that you should/should not…
Reading
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For centuries, mankind has found it useful to divide up the world using
the ideas of longitude and latitude. These are imaginary lines that circle
the world in an east-west direction for latitude and a north-south
direction for longitude. The most well-known lines of latitude are the
equator, which marks a line of equal distance between the two poles,
and the tropic of Cancer and the tropic of Capricorn, which are 23.5°
north and 23.5° south respectively. These were easy to establish by
noting the position of the sun at midday. Longitude was more difficult to
measure, yet extremely important because ships needed to know exactly
where they were. Even small mistakes could lead to shipwrecks.
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1. Find and copy one word from the first sentence that means ‘split’.

2. According to the text, which lines of latitude are the most well-known?

3. Which tropic is 23.5° south?





